Bolt / Nut

- SZHa2|HX| EE (Butten head cap screws): - 8

« \l2tHIX| 2E (Flat head cap screws) «ww 8 LIl
« R2HUX| ZE (Secket head cap screws) - 8 [
« RZHX| BE (Secket set SCrews) e 9 /, 7 :

o T=Bolt / Nut e

. Flanse Nut ......................................................

e Sems Belt rrrrrrr
SPriNG NUt oeeeeeeesmsssssssssssssssssssssssnes

o nsert Nut =,
'Sponge NUL seerreere e :
« HAZILE (Square Nut) seeeeeeseesssssssrssssssssnnns .
o ZINZHHE (Rectangle Nut)

o Ball Nut srereerrrrmmmmri

« Steel Inner Bracket =« seereerssnnneas.

*Leng Nut (Standard Type) - eweeeeees

* Long Nut (dHRShdsis i i

*Deuldle Nut (E}%g) .........



2
@
>
o
Iy
09)
o
=3

AX=ZE

Wrench Bolt

Technical Data

RYZE (Material)

Steel (SCM435) or SUS

HEMAzE| (Surface Processing)

HAZZN), ot==(2),

s Z

25 (Application)

S H2]dIX] ZE (Button head cap screws)

* TF X Al0|= (Standard Size)

M5

5x8, 5x10, 5x15

6

6x10, 6x12, 6x15, 6x20, 6x25

M
M8

8x13, 8x15, 8x20, 8x30

Profile

Zgl 9 Braket ZEA| AL

AFEHIA] ZE (Flat head cap screws)

D

* & HE AI0|= (Standard Size)

M6

| 6x10, 6x12, 6x15, 6x20

di M3 M4 M5 M6 M8 MI0 MI2
@2 55 75 95 105 14 18 21
k 165 165 275 33 44 55 66
s 2 2 3 4 5 6 6
t 104 104 156 208 260 312 416
NS
LK. L
di M3 M4 M5 M6 M8 MI0 Mi2
@2 55 75 95 105 14 18 2
k 166 1656 275 33 44 55 66
s 2 2 3 4 5 6 6
t 104 104 156 208 260 312 416

S 2}EX] ZE (Socket head cap screws)

WOO-IL INDUSTRY CO.,LTD.

——
|

d M3 M4 M5 M6 M8 M10 M12 M16
2 55 7 85 10 13 16 18 24
b 18 20 22 24 28 32 36 44
K 3 4 5 6 8 10 12 16
S 25 3 4 5 5 8 10 14
t 13 2 25 3 4 5 6 8




= Technical Dat
ﬂII E E ecnnical baia

RZE (Material) Steel (SCM435), or SUS
HEMXz2| (Surface Processing) HZAZZ(N), of=2(2), FHsHL 2
Wrench Bolt 25 (Application) Profle 2] 9l Braket Z2A| AL

T ZE (Socket set screws)

d2

=
e
@
=
(&)
=
g
=

d1 M3 M4 M5 M6 M8 M10 M12  M16
S 15 2 25 3 4 5 6 8
t 12~2 153 2~3 2-35 3~6 46 48~8 64-~10

Model Dia | Length Dia | Length Dia | Length
5 12 35

6 15 40

8 16 45

10 20 50

M3 12 25 55

15 30 M10 | 60

16 M6 | 35 65

20 40 70

25 45 80

30 50 90

5 55 700

6 60 16

8 65 20

10 70 25

12 80 30

sTHEEX 2E 15 90 35
Az 2 | M4 6 100 40
o o 20 10 45
S7Hx 22 25 i M12 =5
FRHA 2E 30 15 55
35 16 60

40 20 65

45 25 70

50 30 80

6 35 90

8 M8 [ 40 700

10 45 25

12 50 30

15 55 35

16 60 40

M5 20 65 45

25 70 45

30 80 M16 | 50

35 90 55

40 100 60

45 16 65

50 20 70

8 M10 [ 25 80

M6 10 30 90

Wrench Bolt @



Bolt /Nut

T-Bolt / Nut

©
o
<
Z
=

*ZEA ZE7} UL Hojek %2
nlafsp Z2

Flange Nut

Y =K

WOO-IL INDUSTRY CO.,LTD.

M6

20

J

o

TB306
TB306S

Technical Data

M8

(Steel&Sus)
M8 26
20 »s 31
- Tor
14 ‘ “T“
TB408 TB458

TB408S

TB : 306, 408, 458
TB: 306S, 408S

MZ (Material)

Steel (S45C) or Sus

EHX2] (Surface Processing)

LEZ=(N), OfES()

A}O|= (Size)

M6x13, M6x15, M6x20, M6x25
M8x20, M8x25, M8x30, M8x60

S (Application)

Braket Z2IA| HEZ =X Q10| H|Z

Technical Data

(Steel&Sus)
M8TAP 1
2 N
9
17 ‘ ‘ 18.5 ‘
FN408 FN408L

FN : 306, 408, 408L

MZ (Material)

Steel (SCM435) or Sus

HEMX2| (Surface Processing)

LZZEN), Ot EE()

AO]|= (Size)

M6x12
M8x12, M8x14

EL (Application)

T-Bolt H|Z& Nut




Bolt /Nut

Sems Bolt

Bracket——— Bracket——

°
MASZZE

Washer

MAHXIEE

(=Rl

Washer

Profile Profile

+—
=)
Z
=
o
m

Technical Data Technical Data

MASZIEE : M6, M8 HAMZ|EE : M6, M8

MZ (Material) Steel (SCM-200) Z (Material) Steel (SCM-435)

HEMX 2| (Surface Processing) LZEZN) EMA 2] (Surface Processing) BE==1)

A}O|= (Size) M6x16, M6x20, M8x15, ALO|= (Size) M6x15, M6x20, M8x15, M8x20,
M8x20, M8x22 M8x22, M8x25, M8x28, M8x30

EL (Application) EE QM AZE| 1N 2L (Application) EE QM AZE| {N XY
25

* YU ZEAl FME ME 7I%M= W22 10| A Ths

Cap Nut

M4TAP/T

é CNO4

Technical Data
CN: 04, 05, 06, 08

& (Material) Steel (SCM435)
EMA2| (Surface Processing) LZEZ(N), OFHEZ(2)
2 (Application) Bolt #| 22 Nut

Bolt lNut@



Bolt /Nut

Spring Nut

INN/YOg

Technical Data (Steel)

SP204, SP205

SP : 204, 205
SP : 304, 305, 306
SP : 404, 405, 406, 408

MZ (Material)

Steel (SWRMB8K)

FHA2| (Surface Processing)

HAZZ(N)

L (Application)

BATES ALZ30] BUE
2849l 2ol

A

£ 1Fstof A 2

Insert Nut

Technical Data (Steel)

IN204, IN205

IN: 204, 205
IN : 304, 305, 306
IN : 404, 405, 406, 408

M2 (Material)

Steel (SWRMBSK)

HEMA 2| (Surface Processing)

HAZEN)

&L (Application)

Z2ael TYN| TE 2900
Aelstol A2

@ WOO-IL INDUSTRY CO.,LTD.

Ty - :
@ Ve ;

RV

(Steel&Sus)

10

M4, M5, M6
N M4, M5, M6, M8

6

SP304, SP305, SP306 SP404, SPA05, SP406, SP408
SP304S, SP305S, SP306S  SP404S, SP405S, SP406S, SP408S

Technical Data (Sus)

SP : 304S, 305S, 306S

SP : 404S, 4058, 406S, 408S

Z (Material) SUS303

EMX2| (Surface Processing) Barrel (ZHH}2)

2 (Application) EAI2lS Al2510] 2L E

i Hu
L
4>
£
rir
EN
rlo
ot
=)
find
m

(Steel&Sus)

M4,M5,M6,M8

M4,M5,M6

LA

IN404, IN405, IN406, IN408
IN404S, IN405S, IN40BS, IN408S

IN304, IN305, IN306
IN304S, IN305S, IN306S

Technical Data (Sus)

IN : 304S, 305S, 306S
IN : 404S, 405S, 406S, 408S

Z (Material) SUS303

EMA 2| (Surface Processing) Barrel (ZH}H)

£ (Application) Z2ajg T2IA| TE 220
selstod #|1Z




Bolt /Nut

Sponge Nut

M5, M6 M5.M6.M8

0~ _——9 0 2
e

+—
=)
Z
=
o
m

13 =

~

SPG305, SPG306 SPG405, SPG406, SPG408

Technical Data

SPG : 305, 306

SPG : 405, 406, 408

MZ (Material) Steel (SH 20C)

FoHx|2] (Surface Processing) LIZAE=Z(N)

2L (Application) AEXE At EHER & £ Q=

Zle 20 HEZ 1X5t0f #|Z

Insert Nut&d

A2 A E (Square Nut)

M5,M6 M6,M8
10 14 14
6
SQ205 SQ305, SQ306 SQ406, SQ408
Technical Data
SQ205
SQ: 305, 306
SQ: 406, 408
ME (Material) Steel (SH 20C)
HEMA 2| (Surface Processing) LZEZ(N)
S (Application) e 2R AR E

Bolt lNut@



Bolt /Nut

ZI MM E (Rectangle Nut)

w M6 M6,M8 M8
9 10 13 / ‘y
= 1o > 14 16 N 20
g /L5 { \/6 ~ 45
. -y

SR306 SR406, SR408 SR408B

Technical Data

SR306

SR : 406, 408

SR408B

MZ (Material) Steel (SH 20C)

EMAa| (Suface Processing) ~ LIZEZ(N)

2 (Application) ZE2apd TRA| T= 22/0 Aelstol =

EXZof A2
Ball Nut (Steel&Sus)
M4,M5 M4, M5 M6
ave I ¢ |
13 -
18
8 / 95 /
BN204, BN205 BN304, BN305, BN306

M4,M5,M6,M8

BN404, BN405, BN406, BN408
BN404S, BN405S, BN406S, BN408S

/

Technical Data (Steel) Technical Data (Sus)

BN : 204, 205 BN : 404S, 405S, 406S, 408S

BN : 304, 305, 306 T2 (Material) SUS303

BN : 404, 405, 406, 408 EMRA 2] (Surface Processing) Barrel (ZH}2)

M2 (Material) Steel (SWRMB8K) 2 (Application) Frame 20| Afel5t0] |22
HEMX 2| (Surface Processing) BE==1) OF A2 Zof HIMo| A=
2 (Application) Frame 20f &elsto] HAE 5t0] lat= 2Ix[o 1Y

OF ALS, 20| HM0| XHE
5t0f 5= X[ 2

WOO-IL INDUSTRY CO.,LTD.




Bolt /Nut

M4,M5,M6

o0
S

i
8

TN404, TN405, TN406

Technical Data

TN203, TN204 TN304, TN305

(Zn Casting or Steel)

M4,M5

Bolt/Nut

M5,M6,M8

]
&7

TN504, TN505, TN506, TN508

TN : 203, 204

TN : 304, 305

TN : 404, 405, 406

TN : 504, 505, 506, 508

MZ (Material)

Zn Casting or Steel (SCM435)

HEMA 2| (Surface Processing)

LIEZSN), ORIES()

&2 (Application)

=E0| 7|2% Frame Z0i| '20{A 2 HA|

5l Aol
2893

Technical Data

INB : 20, 30, 40

Mz (Material)

Steel (SPHC)

MR 2| (Surface Processing)

HAZZN)

&L (Application)

20|} 2 73 8i0] Frame &2 0[23(0f
oiZs AZYA

Bolt lNut@



Bolt /Nut

Long Nut (Standard Type)

INN/YOg

Technical Data

INL : 20, 30, 40

& (Material) Steel (SPHC)

HEMA2| (Surface Processing) LIZAE2(N)

E= (Application) EhOIL} = 712810] Frame & 0|&35}01
1ok M2

%
40
4n
e
Rl
i
[m
Byt
el
ol

>
T
[y

Technical Data

LNR40

MZ (Material) Steel (SWRMB8K)

WA 2] (Surface Processing) LIAZZ(N)

S (Application) Frame 7}2§10| 21X C1ZA| A2

w ReRlx| 2E FEsjM 21
Double Nut (211&)

e

'Pv M5 N\_/w

135
DN30 DN40
Technical Data
DN30 : M5 x M4, M5, M6
DN40 : M5 x M4, M5, M6, M8
XHZ! (Material) Steel (SWRMB8K)
HEMX2| (Surface Processing) LZEZ(N)
L (Application) Frame 7}2810| 2R AAA| AR

w FEHUA 2E shEMO)Z ZRIsM 210

WOO-IL INDUSTRY CO.,LTD.



Multi Block/Joint

e Multi BlOCK (QHE) wrveereeereesrerssemmesssesnsnssinsens 18
o« Multi Block (BBIE) wreereerreesrerssersserssessssssesanens 18
s Joint Clip (EEZ or YRHE) wwrrveeeressssessssssnnsnns 19
s DOUBIE JOINt Cli wweeeseeerssesssssssssssssssssiisisaaes 20

. End J.int CIIP ...................................................
. Universal J.int ................................................
. Butt J.int .........................................................
. UJ D”” ............................................................



Multi Block/Joint

Multi Block (2#&)

<
c
=3
ey
o
()
S
=
=)
—

Technical Data

MB30 xL{E ZZA| MB305, MB306
MB40 xL{E ZEA| MB405, MB406

T (Material) Plastic
A4 (Color) Black(B), White(W), Gray(G)
&= (Application) I, of 5 RAE IERE

(308-6mm 2&, 408-8mm=-g)

Multi Block (22/&)

oo\ o '\
i e
o

MB20 MB30 MB40
Technical Data
MB20 L{E Z=ZA| MB204
MB30 xL{E Z&A| MB305, MB306
MB40 xL{E =g A| MB405, MB406
MZ (Material) Plastic
Al (Color) Black(B), White(W), Gray(G)
E (Application) o ol A tEREE

(20&-5mmz, 302-6mmzE,
40&-8mm=)

WOO-IL INDUSTRY CO.,LTD.



Multi Block/Joint

o
k=

o
3

(&
ke)
[aa]
E

=)
=

Technical Data
JC : 205, 306, 408

Mz (Material) Steel(SPHC)
HMX2] (Surface Processing) LZZZ(N)
S M Q@ s & (Application) 202, 302, 402 Frame o1& Z0IE
NJY
*UAY T4 Mo|Z= SYUSIX[D ZOEFE N SES UNIRE 2EE HEIZ
E1EULCH EE7t 0|83 fE f el ZAlZto| ThEELICH

Joint Clip

M5

Jc408B
(End Cap OIZ-8)

JC408N, JC308B

JC205D
JC408B
JC408N
MZ (Material) S45C
HEMX2| (Surface Processing) LZEZZ(N)
S (Application) 208, 302, 408 Frame §1Z ZQIE

Multi Bolt / Joint



Multi Block/Joint

Double Joint Clip

<
<
=3 JC606 JC808
@
o
(o]
=3
=
=) Technical Data Technical Data

JC606 JC808

KHE (Material) Still (SPHC) Mz (Material) Still (SPHC)

HEMX2| (Surface Processing) LZEZ(N) MR 2] (Surface Processing) LZEZ(N)

TA (Components) Clip 1ea/ TA (Components) Clip 1ea/

Wrench Bolt (M6x15) 2ea Wrench Bolt (M8x20) 2ea
&L (Application) 302 Frame ¢1Z ZQIE & (Application) 408 Frame ¢1Z ZQIE
End Joint Clip
M8
M6 "
22
>
10 14
JCEO06 JCEO8

Technical Data Technical Data

JCEO06 JCEO08

MZ (Material) Still (SPHC) Z (Material) Still (SPHC)

HEMX2| (Surface Processing) LZAEZ(N) MR 2| (Surface Processing) LZEZ(N)

TA (Components) Clip 1ea/ TA (Components) Clip 1ea/

Wrench Bolt (M6x15) 1ea Wrench Bolt (M8x20) 1ea
2 (Application) 30& Frame §1Z ZTOIE 2 (Application) 40& Frame 914 Z0IE

WOO-IL INDUSTRY CO.,LTD.



Multi Block/Joint

Universal Joint

Butt Joint

M6x25

UJ306

Technical Data

=
=

S
3

o
=
m
=

=
p=

UJ : 306, 408

M2 (Material)

ofoiCto|A AE! (Zn Casting)

HEMX2| (Surface Processing)

LAZZN)

EL (Application)

M6x25

BJ306

Technical Data

M8x45

BJ408

BJ : 306, 408

MZ (Material)

OfoiCtO|AH|AE! (Zn Casting)

EHX2| (Surface Processing)

LZAZS(N)

& (Application)

68MME HETE

Multi Bolt / Joint @



Ud Dirill

UJ Drill

@ WOO-IL INDUSTRY CO.,LTD.

55

FEEIN
ZLQE_
0

UCe Diill

15 | 60

.35 |

=

UC8 Diill

Technical Data

UC6 Drill, UC8 Drill
&L (Application)




Bracket

o Stee] Brackef =it a o 24
* Plate Bracket“g) ............................................. 27
* Plate Bracket(T%) ............................................. 27
* Plate Bracket(l_?g) ............................................. 28
* Plate Bracket(ng) .......................................... 28
.AL Bracket ...................................................... 29
* Angle Joint Bracket «eesreessenssssnennaass 34

. S“der H..k ......................................................




Bracket

Steel Bracket

STBK2035

STBK2015
Technical Data
STBK : 2015, 2035
M2 (Material) Steel (SPHC)
HEHA 2| (Surface Processing) LIZAEZ(N), OliE=Z2()
£ (Application) 20 Frame& 23t #2422 Q3= 2o
AME

Steel Bracket

STBK3085

Technical Data
STBK : 3025, 3055, 3085

& (Material) Steel (SPHO)
HEHX2| (Surface Processing) LZAZZ(N), OfiE=EZ(2)
S (Application) 30, 60, 90 Frame2 st M| Q2 S Q35

= Aol ALS

WOO-IL INDUSTRY CO.,LTD.



Bracket

Steel Bracket

yd
40
o STBK4075
40 71
STBK4035
Technical Data o
STBK : 4035,4075 2
A (Material) Steel (SPHC) &
Eoix|2] (Surface Processing) HZZSN), oleiEZ(2) 0
2 (Application) 40, 80 Frame& 28t #|Z23 g Q3= &
AHofl AL

STBK4040H
Technical Data
STBK : 4040H, 4080H
MZ (Material) Steel (SPHC)
Foix|2| (Surface Processing) HZAEF(N), ofeiEZ(2)
2 (Application) Ust A2 S Qo= 20| Ao

Frameo| F|E2|%| =S TolFE 12|
7} 9lof MEkst x|4e| Z2IE Jts,

40, 80 Frame&
Bracket @




Bracket

Steel Bracket

8-9x18

20
>/ STBK8075

Technical Data

STBK8075

M2 (Material) Steel (SPHC)

HEMA 2| (Surface Processing) LIZAEZ(N), OlE=Z2(2)

2L (Application) 80 Frame& 23t #2422 Q3= 2o

AME

o

Steel Bracket

STBK6085
30

55

STBK6055
Technical Data
STBK : 6055, 6085
RHZ! (Material) Steel (SPHC)
E0x{2] (Surface Processing) LIZZ=Z(N), Ol1E2(2)
2L (Application) 60, 90 Frame= 4%t #2232 Q5= &

oof Ak2

WOO-IL INDUSTRY CO.,LTD.



Bracket

Plate Bracket (&)

STBKH 30-2555 STBKH 40-3575

Technical Data e
STBK®30-2555 &
STBKZ40-3575 o
X2 (Material) Steel (SPHO)

HEMA 2| (Surface Processing) LIZ=Z(N), Ol1E2(2)

2 (Application) Lot HZHE 25t Mol AR

Plate Bracket (T&)

<
\ ¢

STBKZLT30-2585

Technical Data
STBKZT20-2085

STBKET30-2585
STBKET40-75105

& (Material) Steel (SPHO)
HEHAE| (Surface Processing) LZAZZN), Oli=Z2()
&L (Application) Yot A ZEE 23t MY ALS

Bracket @



Bracket

Plate Bracket (L&)

Plate Bracket (o&)

STBKZL30-8080 STBKZL40-105105

Technical Data

STBKZL20-6060
STBKEL30-8080
STBK&L40-105105

2 (Material) Steel (SPHC)
HMA2| (Surface Processing) LIZAEZ(N), OFIEZ(Z
2 (Application) 4ot M2 2 26t 2ol AL

WOO-IL INDUSTRY CO.,LTD.

STBKE30-5555 STBKZ40-7575

Technical Data

STBK#30-5555
STBK#40-7575

M2 (Material) Steel (SPHC)
EMX2| (Surface Processing) LIZAIEZ(N), OfI=EZ(Z
2 (Application) 45t HZE 2 Q0= 2ol ALS




AL Bracket

AL Bracket -DCBK2025

AL Bracket -DCBK3025

Technical Data

DCBK2025

DCBK2025

MZ (Material)

Aluminum Casting

MR 2| (Surface Processing)

£:E(Shot Blast)

&L (Application)

20mm ZZ=0AE RELEE

Technical Data

+—
Q
X
(&)
©
—
m
—
<

DCBK3025

DCBK3025

RHZ! (Material)

Aluminum Casting

MR 2| (Surface Processing)

£rE(Shot Blast)

&L (Application)

30mm Z20jlg FEEE

AL Bracket



>
—
(oY)
=
Q
o
=~
D
—+

AL Bracket

AL Bracket -DCBK3055

AL Bracket -DCBK4035

WOO-IL INDUSTRY CO.,LTD.

DCBK3055
Technical Data
DCBK3055
MZ (Material) Aluminum Casting
EMR2] (Surface Processing) £+E(Shot Blast)
2 (Application) 60mm ZZojd 2 XEIEE

DCBK4035
Technical Data
DCBK4035
MZ (Material) Aluminum Casting
EMRA2] (Surface Processing) {+E(Shot Blast)
S (Application) 40mm ZZ2oil 2 XEIEE




AL Bracket

AL Bracket -DCBK4075

DCBK4075

)
(O]

Technical Data é

DCBK4075 o

~Z (Material) Aluminum Casting i

HEMA2| (Surface Processing) £rE(Shot Blast) <

S (Application) 40mm Z2OUE FEHE

AL Bracket -DCBK4545
2-010.5X22
2-p9X22 @
45
U D
. /
X @ \ 40
R / DCBK4545-10
" \ 40
DCBK4545-8

Technical Data

DCBK4545-8

DCBK4545-10

MZ (Material) Aluminum Casting

MR 2| (Surface Processing) £rE(Shot Blast)

Z= (Application) 45mm 2 TEEE

AL Bracket @



>
—
(oY)
=
Q
o
=~
D
—+

AL Bracket

AL Bracket -DCBK6055

AL Bracket -DCBK8075

@ WOO-IL INDUSTRY CO.,LTD.

DCBK6055
Technical Data
DCBK6055
Mz (Material) Aluminum Casting
EMA|2] (Surface Processing) £:E(Shot Blast)
& (Application) 60mm ZTZ2ojU e FEH=E

78

DCBK8075

Technical Data

DCBK8075

MZ (Material) Aluminum Casting
EMRA2] (Surface Processing) £rE(Shot Blast)

S (Application) 80mm ZZmjd 2 XEIEE




AL Bracket

AL Bracket -DCBK8888

AL Bracket -DCBK3880

DCBK8888

-

. kY,
Technical Data S
DCBK8888 o
ME (Material) Aluminum Casting -
HEMA 2| (Surface Processing) £:E(Shot Blast) <
2L (Application) 90mm ZZ2IYU e TEEE

DCBK3880
Technical Data
DCBK3880
MZ (Material) Aluminum Casting
HEMA 2| (Surface Processing) £rE(Shot Blast)
2L (Application) 40mm ZZ2nfel TEIEE

AL Bracket @



Bracket

Angle Joint Bracket

Technical Data

AJB30

AJB40

MZ (Material) ofACto|7HAE! (Zn Casting)
HEMX2| (Surface Processing) Qx| = ZH(Painting)

Z L (Application) 30, 40m 2Ol 2 A==

ZEE 26l= &elo|y siEol dele
Doorof| 81X| =2 A2

Slider Hook

SH408
Technical Data
SH : 306, 408
MZ (Material) Glass Nylon
AW (Color) AH (Black)
&= (Application) Framegofl &2l5to{ 37, AHESS 20

WOO-IL INDUSTRY CO.,LTD.



s &8

Hinge

+ Plastic Hinge wmmmmmmmmsss, I
+Zn Die Casting Hinge (FZE) wwwrweveeemmmssmmnnnns gy
*Zn Die Casting Cever Hinge (HEH) e 37
°7n D|e Casting Hinge .................................... 38

e
oZn D|e Castlng D.uble Hlnge ........................ £ /_f'f
*Zn Die Casting Cerner Hinge «:eseeeeeeenee:



Hinge

Plastic Hinge

2-07
CS@13DP3

2-96.5

PH20
Technical Data
PH20
PH30R, L
PH40R, L
KZ (Material) Glass Nylon
Al (Color) Black(B)
&L (Application) O3 2oLt FEHE Zo| ZEo|
22510 AL

Plastic Hinge

Technical Data

PH3030

PH3040

PH4040

& (Material) Glass Nylon

AW (Color) Black(B)

2 (Application) otz ot Hett Zo| 2o

PA13101 ALZ

WOO-IL INDUSTRY CO.,LTD.



/n Die Casting Hinge (&t23&)

Technical Data
DHJ3030, DHJ3030(LH)

DHJ3040

DHJ4040

RZ! (Material) OfeiCto|7HAE! (ZN Casting)

EMA2| (Surface Processing) AHER FEEZ IERYEZ
2L (Application) ZEA0|7|, BHAMETR] SO AL

Technical Data
DH3030, DH3030(cH)

DH3040

DH4040

MZ (Material) ofoiCto|7HAE! (ZN Casting)

MR 2| (Surface Processing) A ER JECZ JERECE
2 (Application) ZEAAT|7|, A TR S| AL

Hinge@



Hinge

Zn Die Casting Hinge

DH3070

/ DH8085

Technical Data

DH3060

DH3070

DH8085

TZ (Material) ofoiCto|FHAE! (ZN Casting)

EMX 2| (Surface Processing) AECZE IERAULZ, ST
2L (Application) ZEMAT|7|, BHAMSER| SO ALE

Zn Die Casting Hinge

DHR4065 DHR4080 DHR40100

Technical Data

DHR4065

DHR4080

DHR40100

Tz (Material) ORACHOIZHAE! (ZN Casting)

EMA2] (Surface Processing) JECZ IERULCZE S
2% (Application) LZAA717|, B HUEER SO ALS

WOO-IL INDUSTRY CO.,LTD.



Hinge

Zn Die Casting Double Hinge

2-8.5x11.5%3

Technical Data

DHD30

DHD40

Z (Material) ofedCto|7HAE! (ZN Casting)
HEMA2] (Surface Processing) A

EL (Application) PA !

Zn Die Casting Corner Hinge

DHC3022

Technical Data

DHC3022

DHC5026

DHC6027

DHC6035

T4z (Material) OtCtO|7HAE! (2N Casting)
M2 (Surface Processing) JELZ IEFALZ ST
21 (Application) ZEAAT|7|, A AR S| AL

Hinge






o Al Fo@t Basg :»ererrrrrrrrmmmmsssiiiiii s
’Steel F..t Base ................................................
. End Cap (Plastlc) .............................................

oEnd Cap (Alumlnlum) .......................................
*R Cener Bracket & End Cap wweeeseeseeseeess



n
o
o
—
oY)
)
(%]
D

Foot

Base

Al Foot Base

M12,M16 TAP

Technical Data

WIFB : 3060, 6060, 4080, 8080

WIFB : 6060C, 8080C

KHZ! (Material)

AL Diecasting

EMRA 2] (Surface Processing)

HH =T

Z L (Application)

ZH 5} Leveling Foot)2 £&+s17|F 0
Frame CHHO| 2&5l= 25

40
V\ WIFB4080

M12,M16,M20 TAP

WIFB6060C

M12,M16,M20 TAP
I

Name Model Applied Frame
AL Foot Base FIFB-3060 3060 Frame
AL Foot Base FIFB-6060 6060 Frame
AL Foot Base FIFB-4080 4080 Frame
AL Foot Base FIFB-8080 8080 Frame
AL Foot Base FIFB-6060C 6060 Frame
AL Foot Base FIFB-8080C 8080 Frame

WOO-IL INDUSTRY CO.,LTD.

3-M8 COUNTER @ @ @ E[
S .
% /

.

WIFB8080C



Foot Base

Steel Foot Base

& G
& G

M12,M16 TAP

S
2-M8 COUNTER I\A

/ 80

% STFB4080
Technical Data N
STFB : 3060, 6060, 4080, 8080
STFB : 6060C, 8080C M12,M16,M20 TAP
A (Material) Steel (S45C)
HEHX2| (Surface Processing) LIZZZ(N), Ol9IEZ(2)
Z (Application) =A% Leveling Fool)E E2ksl7| &0

Frame CHHO| £Al5H= 25, SYE2=2
F2 MY

Foot Base

3-M6 COUNTER

Technical Data

Name Model Applied Frame

Steel Foot Base STFB-3060 3060 Frame STFBB0GOC
Steel Foot Base STFB-6060 6060 Frame
Steel Foot Base STFB-4080 4080 Frame M12,M16,M20 TAP
et R
Steel Foot Base STFB-8080 8080 Frame @
Steel Foot Base STFB-6060C 6060 Frame 3-M8 COUNTER = = ol
Steel Foot Base STFB-8080C 8080 Frame 16
= ~__
%7 |EFEE M ZHE  STFB-2040, 3090, 6090, 9090, 30120, 40120, 40160 go~40 /
S
STFB8080C

Foot Base



End Cap

End Cap (Plastic)

Technical Data

== TE (Material) Glass Nylon
iIn @ﬁ 7 ABA (Color) Black, Gray
j S| (Thickness) 3t, 5t
; EL (Application) 20! X2l% Frame MEHH

ZTHol| OIRZ ALS

L éf,f, {;} i Name Model Applied Frame
! ! End Cap Plastic WIEC 1530 1530 Frame
‘ ‘ End Cap Plastic WIEC 2020 2020 Frame
End Cap Plastic WIEC 2035 2035 Frame
End Cap Plastic WIEC 2040 2040 Frame
; ‘ End Cap Plastic WIEC 3030 3030 Frame
S| End Cap Plastic WIEC 3060 3060 Frame
End Cap Plastic WIEC 6060 6060 Frame
End Cap Plastic WIEC 4040 4040 Frame
End Cap Plastic WIEC 4080 4080 Frame
End Cap Plastic WIEC 8080 8080 Frame
@ @ End Cap Plastic WIEC 4545 4545 Frame
End Cap Plastic WIEC 4590 4590 Frame
End Cap Plastic WIEC 3090 3090 Frame
End Cap Plastic WIEC 30120 30120 Frame
End Cap Plastic WIEC 40160 40160 Frame
End Cap Plastic WIEC 80120 80120 Frame
End Cap Plastic WIEC 80160 80160 Frame

WOO-IL INDUSTRY CO.,LTD.



End Cap

End Cap (Aluminium)

- 4 (A4

ALEC 1530 ALEC 2035 ALEC 3060 ALEC 4080

ALEC 3030 ALEC 4040 ALEC 6060 ALEC 8080
Technical Data
A2 (Material) AL Diecasting Name Model  Applied Frame ARR[HIXIZE
A2t (Color) Y End Cap Auminum  ALEC 1530 1530 Frame M6
S/ (Thickness) 5t (ALEC 20352t 3t) End Cap Auminum  ALEC 2035 2035 Frame M5
&L (Application) ZEn RS Frame ZEH  Eng Cap Auminum  ALEC 3030 3030 Frame M6
2T DITZ AFE End Cap Aluminum  ALEC 3060 3060 Frame M6
End Cap Aluminum  ALEC 6060 6060 Frame M6
End Cap Aluminum  ALEC 4040 4040 Frame M8
End Cap Aluminum  ALEC 4080 4080 Frame M8
End Cap Aluminum  ALEC 8080 8080 Frame M8

R Coner Bracket & End Cap

23-8.3
[T

RCBK40 RCEC40

End Cap

25

40

40

Technical Data

RCBK40

Z (Material) ofodCto|7HAE! (Zn Casting)

Al &4 (Color) HZE=Z(N)

S (Application) 4040R Frame Corner ZEIA| AlZ

Technical Data

RCEC40

ME (Material) Plastic(ABS)

A2t (Color) Black, Gray

S (Application) 4040R Frame Corner ZZJA| Al2

End CaD






Handle
Magnetic Catch

¢ Plastic Handlg e 48 ///
'AL Handle ......................................................... 48 L

oZn Dlecastlns Handle .................................... 49

°7n Diecastins Handlg e, 50 -
*Sus Pipe Handle e, 50 ,,f,//,!
- Emeded Handle (HZIE0) AFO[) v 51
*Emibeded Handle (DHR! &FH0[) «orereereminnnnnnen 51

. Plastlc Magnetlc Catch ................................. 52 ,
.Stalnless Magnetlc Catch .............................. 52.‘ o

* Semicenducter Magnetic Catch(EHZH|X}A) ---




Plastic Handle

AL Handle

WOO-IL INDUSTRY CO.,LTD.

PH408L

Technical Data

PH : 306, 408, 408L

MZ (Material) Plastic
A (Color) Black
S (Application) Profle =0{& SiS
2-06.6
\ CSp12 DP6.2

WI-100
Technical Data
WI-100
Mz (Material) A=2n| 552
Al (Color) L
S (Application) Profile =0{& sli=




Zn Diecasting Handle

HDD105

Technical Data
HDD : 80, 100, 105

A& (Material) ofeist=
EMAE| (Suface Processing) ~ A=E 2, RYI=LZ
8% (Application) SH=A| ], SA17), ASIP]

Zn Diecasting Handle

Handle

Technical Data

HD: 79, 114, 140,172

THZ! (Material) ofelala
EMA2| (Suface Processing) ~ A=EZ, PRI=LZ
&= (Appication) R A Be], S417171, AZ717)

Handle



Zn Diecasting Handle

Sus Pipe Handle

Technical Data

HDC : 59, 80, 96

MZ (Material) ofoist=2

HEMX 2| (Surface Processing) A=

E (Application) S| ZH|, S41717], AE7|7]

WOO-IL INDUSTRY CO.,LTD.

Technical Data

HDSP : 250, 300, 400

RHE (Material) Bepd ofelEs
0| Z : A Qlz| AAE(SUS304)

{2 (Surface Processing) JEEZ

HH
(=3
2

(Application) BH=A| FH], 47171, AIZ717]




Embeded Handle [z =0 £%H))

Technical Data

EHD110

Mz (Material)

0fedet=(Zn Casting)

EMA2| (Surface Processing)

3853, 23385a, 2UET

2L (Application)

HHEA| ZH|, ST
/e

Embeded Handle (ofz &zto|)

Technical Data

4-¢5
countersink

2 EHDH 100

EHDH100

RYZ! (Material)

0foiet=(Zn Casting)

EMX2| (Surface Processing)

38c3, 233853, SUET

& (Application)

HHA| ZH|, U717
LA

Handle@



Magnetic Catch

Plastic Magnetic Catch

Stainless Magnetic Catch

<
D
Q
S
@
=,
(¢}
&
g
>

@ WOO-IL INDUSTRY CO.,LTD.

PMC 34
Technical Data
PMC34
ME (Material) Plastic, Steel
A (Color) White, Black

S (Application)

oLt of 30| RA5o ZOIHEE
OF MEshz A,
UUSI171, AI-7171, OA717| S

Technical Data

SMC : 40, 45, 75

MZ (Material)

AH|0l2|A AE|(Sus 304)

HEMA2| (Surface Processing)

szl ednf(Vioratory Barrel)

S (Application)

oLt ofF ol RASHo ZoIHEE
OF AESHE A,
LAEI171, AIR717], OAZI7| S




Magnetic Catch

Semiconductor Magnetic Catch (gHZ A XA])

MCP 38
Technical Data
MCP : 30,38
RHZ! (Material) Plastic, 0Fp1&t=2(Zn Casting)
AN (Color) White
&L (Application) HHEX| ZH[O| EH{E2Z A25H= RA
O AU WEIL =EE=A G0

oOl={ol=
—!-0:'AA|:|

flen
IS]
®
(@]
<
=
Q
)
(0]
=

Magnetic Catch @






